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Instructions :
The question paper has 35 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQ) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 27 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 28 to 34 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 35 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
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Answer Q.Nos. 1, 2, 3 and 4 from any one of the following graphs A, B and C.

GROUP - A
Where is Serengeti national park associated ?
(a) Kenya (b) Tanzania
(c) Zambia (d) Uganda

Which of the following acts was passed in 1871 ?
(a) Criminal tribes act (b) Forest act
(c) Waste land rule (d) Grazing act

Who among the following are skilled forest cutters ?
(a) Maasais of Africa (b) Kalangas of Java
(c) Gonds of Orissa (d) Mundas of Chotanagpur

Latex can be collected from which of the following trees ?

(a) Rubber tree (b)  Eucalyptus tree
(c) Pine tree (d) Deodar tree
GROUP - B
Growing of which of the following crops makes the land fertile ?
(a) Brinjal (b) Turnip (c) Tomato (d) Potato

Which of the following is the most important cause of the great agrarian depression ?
(a) Closure of banks

(b) Closure of factories

(c) Over production and fall of prices

(d) Crash of stock market

Dietrich Brandis was the :

(a) first postmaster general

(b)  first governor of forest administration
(c) first inspector general of forests in India
(d) first supervisor of forests

Which of the following was the most essential for colonial trade and movement of
goods ?

(a) Roadways (b) Railways

(c) Airways (d) River ways
GROUP - C

Where is Serengeti national park associated ?

(a) Kenya (b) Tanzania

(c) Zambia (d) Uganda
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10.

Which of the following acts was passed in 1871 ?
(a) Criminal tribes act (b) Forest act

(c) Waste land rule (d) Grazing act

Growing of which of the following crops makes the land fertile ?

(a) Brinjal (b) Turnip () Tomato (d) Potato

Which of the following is the most important cause of the great agrarian depression ?
(a) Closure of banks

(b)  Closure of factories

(c) Over production and fall of prices

(d) Crash of stock market

Which of the following is not a important tree of tropical rain forest ?
(a) Ebony (b) Rosewood
() Mahogany (d) Sandal wood

As per 2001 census, which of the following states has the least density of population ?
(a) West Bengal (b) Bihar
() Arunachal Pradesh (d) Uttar Pradesh

Which party gave the slogan” save democracy’ ?
(a) Congress (b) Janata party
(c) Left front (d) Telugu Desam party

Which state has the largest Vidhan Sabha in the country ?
(a) Maharashtra (b) U.P (Uttar Pradesh)
(c) Andhra Pradesh (d) West Bengal

Which fundamental right ensures the ban on bonded labour ?
(a) Right to constitutional remedies

(b) Right to freedom

(c) Right to against exploitation

(d) Right to equality

Which right bans untouchability ?
(a) Right to equality

(b) Right to freedom

() Educational and cultural rights
(d) Right against exploitation
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11. What is the accepted calories requirement in urban areas ? 1

(a) 2000 cal / person /day (b) 2100 cal / person /day
() 2300 cal / person /day (d) 2400 cal / person /day
12.  Which communities are categorized as economically vulnerable groups in India ? 1

(a) Schedule caste

(b)  Agricultural labour household
(c) Schedule tribes

(d) All of the above

13. The farmer’s are paid a pre-announced price for their crops known as : 1
(a) Wholesale price (b) Fair price
(¢) Minimum support price (d) Maximum support price

14. When was AAY launched ? 1
(@) 1990 (b) 1992 (c) 2001 (d) 2000

15. Which of the following is not a mitigation measure ? 1
(a) Retrofitting public buildings (b)  Collecting land revenue
(c)  Building community shelters (d) Relief and rescue

16. The Bhopal gas tragedy occurred in which year ? 1
(a) 1984 (b) 1985 (c) 1983 (d) 1980

17. During the colonial period how did the Indians react to western style of clothing ? 3

OR

“The battle of Waterloo was won on the playing fields of Eton”. Explain. 3

18. What are corsets ? What types of problems were associated with it by the French

woman ? 1+2=3
OR
Who was Kerry Packer ? What innovations did Kerry packer introduce which changed
the nature of the game ? 1+2=3
19. Differentiate between cold and hot weather season in three points. 3x1=3

20. Name the vegetation found at high altitude in our country and mention animals are

found in this region. 172+1Y2=3
21. Explain any three elements which are responsible for population growth. 3x1=3
22.  What were the suggestions laid down by the Mandal commission ? 3
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23.

24.

25.

26.

27.

28.

29.

28.

29.

28.

29.

30.

31.

32.

33.

‘Right to freedom is a cluster of different freedoms’. Elaborate 3
Explain any two anti - poverty programmes initiated by the India govt. 112x2=3
Explain the three dimensions of food security. 3x1=3

Elaborate any three mitigation strategies which can be adopted to minimize loss in
case of industrial / chemical hazard. 3x1=3

What role does the school disaster Management committee play during disasters ? 3
Answer Q NO 28, 29 from any one of the following groups A, B, and C

GROUP - A

How did commercial farming led to a decline in forest cover during colonial period ? 4

Who are Gujjar bakarwals and Gaddis ? What are the similarities between them ? 1+3=4

GROUP - B

Name two communities that live in Bastar. What were some of their beliefs regarding
nature ? 1+3=4

Explain two advantages and two disadvantages of mechanical harvesting machines in

USA. 2+2=4
GROUP - C

Why were the pastoral lands shrinking under the colonial rule in India ? 4

How were the poor affected by the enclosure movement ? 4

Define monsoon. Explain the main characteristics of the monsoon season. 4

Define elections. Explain the nomination process as practiced in Indian elections. 1+3=4

(@) What do you understand by parliamentary form of government ? 2+2=4

(b)  Which of the two houses of parliament exercises supreme power and why.

(a) Define poverty line. 2+2=4

(b) How is poverty line calculated in India ?
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34. The PDS system has been often criticized with reference to several drawbacks. Explain
any four such drawbacks. 4x1=

35. Four features from A to C are shown on the Indian map. Identify these features with
the help of the following information and write their correct names in your answer
sheet. 1+1+1=3

(A) Type of vegetation cover
(B) State with highest density of population
(C) Meteorological station

OR
Locate and label the following on the same political outline map of India. 1+1+1=3
(I) Mangrove vegetation
(2) Meteorological station of Meghalaya.
(3) Ranthambor national park

Note : The following questions are for the BLIND CANDIDATES only, in lieu of question
number 35. 1+1+1=3

35.1 Name of forest found in semi - arid areas of Gujarat
35.2 In which state is GIR national park situated ?
35.3 Which state has the highest sex ratio in India ?

-000-
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U9 1,2, 3,4 % S FeAfafed o1, aeiraaq@ A A frdl wr @4 S

g - A
1. R U s e 2w 9 Hefig €2
(a) It (b)  dSITiTT (c) ifes (d) e
2. 1871 ® =M @ Afufrem i gen ?
(a) AU SASA AfHEm (b) a7
(c) Tl YfH A (d) =W AfufEm
3. fr=fafeaa & 4 1 F9e dheer © ?
(a)  STHIRT I AT (b) STl =T ATl
(0 SIWMEF M (d) BTel TR B e
4. oo ford g1 | U foha STar €2
(@) WeIH (b) FHIfcTIH Fa
(c) T I (d) TEX g&
g - o
1. Trafafed § 9 o0 9 wua & 3aed gt § SeRmwife &l e € 2
(a) S (b) TS () X d) e
2. Y TR 1 Fel FHE HROT T o ?
(a) Sehi o1 §ig BT (b) e T S BT |
(c) Afd Icured de sied H et | (d) T STSIR 1 11

3. wEfew dfeq &iF oa1?
(a) U9 T TRl FHeweh | (b) ST YR 1 JeH e |
(c) WG = & 9oF wel frfiameh | (d)  oF o1 gUH THderd |

4, e IR T8 a5gei i STasTe! & fau fHefatad § 9 a1 9ga sTavdeh o ?

(a) WSH AR (b) X A (c) dagHw (d) &t Hni
g - ¥
1. WAL U SUH R 9 9 Hefid § 2
(a) It (b) =TT (c) Siften GO U
2. 1871 ® =M @ Afufrem uifta gen ?
(a) STUUET SFSTfd SAfufEm (b) o A
(c) SSR SHA A (d) =INEmE AfufEH
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3. frAfafed & 4 & d@ wEa &1 Sced gt # Sawifad @i serd ¢ 2

(a) (b) SIS (c) THRX d) e
4. Y TIHES 1 & @ HRI T AT 7

(a) Sl I &g BT (b) R I S B

(c) Afd IcureA qe shied | | (d) Ffh TSR 1 2T

5. frefafed § @ $F-W 9e7 SwrRfsa aut a7 &1 7@ g8 T § 2

(a) TS (b) TS

(c) TRRH d) T<ARUS
6. 2001 Tt SFIIVMET & TR o HH A o T a1l T i ¢ ?

(a) U mA (b) feeR

() ITEUIEd UeW d) WU
7. ‘hax sErsll’ w1 AN e Ta 7 feam an?

(a) HE (b) ST et

(c) o™ H=Et (d) o <e™ et
8. TorE T I faum g ol =<t €2

(a) WRNY (b) W U

(c) oY wew d) 9 &

9.  HF-TT NMFR Sy HAsiglt I fasiferd war €2
(a) HoAHTTR STARI T ATHHR | (b) TEIAAA % SATUFHR |
(c) ¥ % faeg TR | (d) FHFA H ATFER

10. -9 Hifetsr ARIHR STegvarar ol Uidsfed Hiar & 2
(a) HHMT 1 SRR | (b) TSIl T YRR
(c) etk wd Aihiah AfHR | d) o % faeg fer)

11. 9Rd ¥ ¥4 &5 % fa @ed hart ot 2
(a) 2000 e gfqeafa fafeT | (b) 2100 kARt gfaeafa gfafe |
(c) 2300 et Hfdeafad wfdfe | (d) 2400 Fert yfeafad wfafe |

12. HA-91 G A &9 § TR TS % &9 | aficha fohan a1 § 2
(a) A=A Sfd (b) HT FfHew TRAR
(c) 3rIgfad SH Sfd (d) ST 9|
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

foRaTT ol SHh! S & TAU € W9 91el 98t 9 S shiddl ohl 9T el STl § 2

() o e (b) S T
(c) gAdH HHLH A (d) SAfeRan TR HFd

TR 3T ST e ] i T ?
@ 1990 b) 1992 (c) 2001 (d) 2000

frefafad § § SF-dF HeT wrifwEr T8 § 2
(a) ok BT S ATl WISk ol shi T |
(b) SIS W HUT |

(c) I Aard okt fefor|

(d) HeEd Td = |

frrer e Tt fore o g 2
(a) 1984 (b) 1985 () 1983 (d) 1980

ifafires et | afvedt et & aReaml & gfa fegeat=i =t gfafean et @ ?
3AUdT
' 1eTe] 1 GG 3 ok Wl o HIM H Sfial T e i |

Hrde 91 ¥ ? hiE Afgeneii S Iued 3o9 R TR St gelt off ?
areren

F TR BE 41?7 ITF FR @@ T TS FAM A fRY YRR BHhe @A # A H a99a

Tt ?

Ytk Ta W g § S o fogsli § g &)

1+2=3

1+2=3

3x1=3

TR 20 H tfureh TS ool &5 H o TR Y oreata Rt STt § 2 39 Yo % o § urd il V2=3

A STHER] o ATH i ool ahifsld |

SEE gfg & fa SRR iF da@i st A Fifs |

HEd TR g/ &F | gea fed 7w 92

‘AT 1 TR fafie YR @t TaAarsti & U §Fd §1 TR Hife |

AT TR R T T @ fRel <1 et 3<e i i S Hifs |
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25.
26.

27.

28.

29.

28.

29.

28.

29.

30.

31.

32.

33.

34.

35.

Qe GR&Tl o 1 ST hi SATEAT it |

3ireiiTes / TEmIfe eetell | M aTelt B ol &0 A & foT fiF Hew Srefifad & samen

ST |
SATIRT o SN Whel ST9a] Jo € g1 fohel W i YffHehT 3781 ot St § 2
Y WEAT 28 TH 29 1 ST (MHAGIEd AT U6 GO0 A A fpii T 9 € |

qHe-A
Sirafafire et # sAeadtae Hf A e YR o7 & ° S &l aerEn fear ?

TR SehRETe T T A ¢ 2 19 91 FHHAM & 2

-
FER H & 9Tl S THEEl 1 A9 oIqst | Yhfa & ufd S o favars 92

T T TR H wHe e i AR % WA %k S oY TE 91 Bl bt AT i |

qyg-q

Sirafafire e § 9REmE #=&i faged 1w ?

e STle 9 e fhd JehR guifad gu ?
HAYA <l YR T | A kg St g foRivarsti st =men wifs |
TS ! RIS RIfSIT | WRA AT | iR IR it A& hifST |

(a) THI A G ATIR T A 2
(b) HEE % T TeA & U et wf T i i 2

(a) e @ o1 aRenfa wifs
(b) uRd H feieram e = freior 9 fohan s €2

fafirer sl o Sror Tresi—er foaeor Jomel =t gUen o= 2l 81 fel =m il =t

RSAT i |

3x1=3

1+3=4

1+3=4

2+2=4

1+3=4

1+3=4

2+2=4

2+2=4

dx1=4

IRA % feU T qsHfad AT W A, B T C 19 waor guig e €1 et gemsti px1=3

HeIdl ¥ 3% 8T ud gHfed § 3ifehd TM R 3 we@ 9 fafaw)
(A) ITEfd % TR |

(B) HdIfYesh SHEAT o T aTell T4 |

(C) THH REA|
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srerar 1+1+1=3
R4 < 39 AAfes W f=fafed < <uise w37 9 fafaw)
(1) H I |
(2) T 1 HEH RIA |
(3) oo T &AM |

de: - Trafaiea wva e givada faenfes & fae wos @em 35 & W W E s

35.1 TSR % 31y & H fohd YhR & a9 9& S € 2
35.2 fiR Wi Som fha T & emafted €2
35.3 9Rd % a =T o1 feAmuma qeg fees &2
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INDIA - PHYSIC

AL AND ADJACENT COUNTRIES - T i g g
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1. Based upon Survey of India Map with the permission of the. Surveyor General of India. @ K DEPOT (MAP HOUSE
2.The territorial waters of India extend into the sea to a distance of twelve nautical miles measured from the appropriate baseline. [NI:;?;‘ BOO! (Delhl_” !

3. The External Boundary and coast-line of India shown on this map agree with the Record / Master copy certitied By the o  Baf ‘W“'F‘"‘m_ g 0008. :
*Survey of India, Dehra Dun. (Letter No.T.B. 991/62-A-3/213 dated.5/5£2003)/ .
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